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Q. No. Question Body and Alternatives

1 1 Concepts map in teaching was developed by :

&MHMeN6L &([HSH S UMTLIL&HmG GG SH W6UTSHET :

A : Murray and Morgan
WG LoMMILD GLOITT& 60T
B: Novak and Gowin
GBITeUME LoMMID G&meiledr
C: Bruner and Piaget
L@evorJ Lommild LIwmGsy
D : Klausmeir and Mc Dougal
SeTL_erunl LoMMILD 08B &6V
2 2| According to Novak, concept maps also be called as :

GBTAIMERT HIHSSILILILG, QLIMTSININEG HIHSS! QIeNTLL LD @e6lalTm emp&HESLILORMS :

A : Geographical map
Bl6L GUENTLIL LD
B : Route map
QPSS alenTLILLD
C: Cognitive map
& T auemJLIL LD
D : Political map

TFWI6L eUemTLIL LD

This is a process by which new things become known and the old things get better known in the process of learning :
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4 4

OB Q& WS &Gamer MBS Q&TeTEHLID CLMTSE, LIemLpUl QFUISH &H6T HeTmMTe SMb Q& MeTEHhLD 8

QEFWELITLTETS :

A : Apperception
&HMMev GLUm(®

B: Perception
L|6VETSHITL_&

C: Information
HH6U6V

D : Definition
QUEM T LI

Children observe cinemas and try to imitate actor/actress belong to the law.

FlemTLILIL BIG6m6T 2 MMl GBITE (G 6USH60T CLN6VLD GLPHENS 6T HIQ.& / 5160 &&Hm6T CLMnE Q& ulagl ereleillEudleor

LNedTLIMD O 2

A

Law of multiple response
LI6L6UEDY & & SHIT600T L6V
Law of set of altitude
LO60T LI LI TE0T6m LD & 61T
Analog

@LILenn NG

. Associate shifting

Q&ML

Choose the correct set of Instrument for verbal learning.

QUMUALMLES HHMVGHHETET Q&GTGLmU Qe Q&ulss :

A

Signs, Picture, Symbol

SjemLwmerd GMIui®), UL mIs6T, GmluibH &6
Symbol, word, Board

SOUTD), UM &H 56T, S([HLD LIV S

Piano, Figure, Sound
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LNWImGeoTiT, 2_(HEUTEISH 6T, 626018 6T
D: Sounds, Symbol, Toys
60156, GMIUT(H &6T, QLMD 6L G 6T

Which of the following found in all living organism throughout life ?
3|em6Ts % 2 U6t mIG6rlevild QUITLDIBITET (LD(WEISILD S5metor LIL(HILD Q& W6

A : Learning
&MHM6V

B : Maturation
WH &S

C: Physical growth
o L6V aueTiFR
D : Intelligence
[Bl600T6u0T Ml 6

There is equilibrium between two natural tendencies of a man.

LD 60T & 60f160T 6TH & @) ([ LD6OTLI CLIMTE 5 6EHEE @)6emL G FLOBlen6v @) [HE G0 ?

A : Organization and Assimilation
QR(HHIGHEMINGSH 6V LDMHMILD FH6oTeUWLILI(H&H6V
B : Organization and Adaptation
6(HMHIH 6NN H6V LDMHMILD @)600T IS SH 6V
C: Assimilation and equilibrium
SeoTeuWLIL(B &6V LDMHMILD FLoBleneul LB &8 60
D : Organization and Accommodation
QRHHIGHEMINGSH 6V LDMHMID QUITHSSLILIT(H

Selvi had a very bad handwriting is one of the example for which theory ?
QFevall& @ W&a|D GIMEFLNTET MH6ILI(DES! 2 6Temgl, 6Telalens CHMMER MG TH\&SI&HETL(H ?

A : Monarchi
WIQWITL &
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B : Oligarchi

FevaugmL &
C: Multifactor

LI6V S5ITJ6vol]
D : Anarchi

FWOSTW GumQ

Lead is a highly toxic element that exceeding 60 pg/dL in blood level which leads to :
FWLD & 6D [FEF& &G 60TenLD aUMUIHS SHeoflnb. @emel @IHEHEH 6V 60 pg/dL il HNH &fle @G0 CUMS 2 L 696y
gHLOSSUS :

A : Brain swelling
eLN 66T g 810
B : Brain swelling and hemorrhage
eLnem e ef& 5D InMHMID @68 CLME G
C: Brain tumour
eLpemeTuilev Limmi GBIl &L1g.
D : Brain aniruism
epemaTuiley QUss &6l

"Propositional thought" occurs in stage.

ANRGTETT FHFHemer gHLGLD Hlensv

A : The formal operational stage

(LDED MUWIITEOT LD6OTE QI &F WeLLITL () Blemsv
B : The concrete operational stage

L@GLIQUTHT Q&FWeLTL () Blenev
C: Pre-operational stage

DeTdF QEFWLLTL (B &G (PHenS W Hlenev
D : The sensorimotor stage

L|6V60T @ UI& & [Hl6m6V

According to Piaget's stages of cognitive development, the sensorimotor stage is associated with

247 Enoale Play
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LwmCeguietr MG meiT aueTI&ER Blemevuilev Ljsveornilay Bleneul|L 60T Q&L LML WG :

A

Ability to solve problems is logical fashion

SISHSTE WmerT (enmuiey LNTFFenerseneT 878560

: Ability to interpret and analyse options

afleurmgGemeT elleTsS LIGLILIMULIG Q& UlW|WD Hmedr

. Think about social issues

Fenss L KgFaenearseneTll Lmn SNBSS

: Imitation, memory and mental representation

NesTLmmev / GUIMev Q&FULIG 6V, Blemeore] LoMHMILD et LN TS BIH &SialLD.

The period marked as greater degree of social awareness at the age of :

QuUBLDETE Fewngs eNLSILIL|etoT 6y 2 6Temeuas 6T eTeoT GMILILIL LU euwI& 60T :

A

0-4
0—4

10- 12
10-12
6-10
6-10

. above 20

20 QUUWISISE CLMUIL L 6UT&6T

By seeing anything new and different, the curiosity is aroused more for :

LS W LMD IDmmiLL LelMenm LUMTF&GLWD CUTE, WMTHHG pTallb S5 &fleaHms 2

A

Elder children
QWG PSS GLLHNS

: Young children

QWS GOMHS GLHNS

: Adults

Quflweurser
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auerflemid & LpIhem & & 6T

14 14 The following statement is not correct regarding interests of school children :

LeTerfles GLben g &erflest allpLILID &MHS HHSH 60 @& FFlUMETS 3606V :

A : Interests of older children vary more than younger children
eSS GLOHeM &6l ellBLILILD @ emaTW @GLphHen g s 6rletr ellLlILSHembS! LommILIL L g
B : Most childish interest last longer
QU(BLDLITEVITET GLLHEMNSGE SHeoTLnmeoT edl([HLILIN H & &TeVld @) (H&H G LD
C: Older children interests developed by have a powerful influence on their behaviour
NG S GLHENSHEHET 2 ([HeUTEH G0 allBHLILILD HHIG6T BLSHnSHUN6) PSS LOMET HTEHESHSEHMS LB &SI
D : Development of wholesome interest suited to children's ability is too important
GBS &6 HEGH &G gmm, L QMss el@BLILLD 2 HalTsHe) L&D (&S WL TeTS
15 IS5 When children face unfamiliar people, objects or events, they think of their parents or care giver's emotional expression. This indicates :

GLPHMNGGET HHIGEHES G 2MLN&BLOMM LDGHSHET, GILITIHETHET 6V6VS G F UIVEHEMET TH TS TETEHELTS, QUHEMTY
36vevg LIFTFlLiLeufler 6T eauWwsER QelsflLILML L HlemneoTe)| Safeall. @ 6Tendd GMlE&EHMSI ?

A : Social norms

SRS (LM
B : Social culture

FENSH HELVTFFMTLD
C: Social reflection

Fens NS uedliiy
D : Social reference

FeNG FITEOTMTSHITILD

16 16 ' Pjaget three mountain experiment/problem is related with :
FELDG&GH600TL 61580l 60T LNWMGRUN 6T (IDLDeM6V CFTHEMET QG TLTL|emL WIS ?

A : Object permanence

QUITH6r160T [Bl6m6v 5 5 60T60ILN
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o WIrmm QuUTemer 2 ullHeTaTenalWmss LImel g s 60
C: Reversibility

(wedt L6t LommmLd 3l & 6L
D: Egocentrism

G60TemLOW [Blemev

17 17" ' Which among the following thinking relating different symbols in meaningful way and evaluating it ?

LY 6BTeU (H U 6TTOUMMIET 6TH & eUem & UMeT FbGemne GMIuih &efley auflenss QsTLmT gHLUBGSS (WLIQC6a(H &S LDMHMILD
LHLULTH QF LIS 6T QS TLFL6ML WIS ?

A : Covergent thinking
&l Ab56m601
B : Imaginative thinking

& MHLIO6T G155 60)60T
C: Critical thinking

Fol] &\H5 60 60T
D: Logical thinking
SI55 &FHSemeor
18 18 || Although Ravi knows the answer to the question asked by the teacher in the classroom. He is reluctant to answer infront of everyone. Which of the

behavior found in Ravi ?
@ LUmUIe 2 FWT CHLG LD alleTméH&HEH&HES el Q& 1HH HHSTID Tai emeoteufler el LS 36eflsss
SW&HSLD ST (S 6TMITET. @)FQ&FWe6v enevld FelludlL LD &meoorILIL_L (&600T[HEVLD 6T& 2
A : Self - Confidence
&60TeuT DL G600 5
B : Inferiority complex
SITLDG) OG0T LILITEOT6m LD
C: Self - Control
GW SLGLUUThH

D : Superiority complex

GLO6VIBl6t6V LOGDTLILITEITEmLO
! Page -7
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19 Which of the following statement is false ?
L9 63760 (TH 6L 60TEU M MIGIT 6T[H&HE For MM &56UMTEOTS 2

A : The important factor in development process is growth of bones and tissues
2 L 6L alemF&ERUIN6L eTanlDL| & 6rTl60T aUeTTEFULD H6Mm& aUaTFEF W LD (NHFI SITI6ol 1 &6T MG LD,
B : At birth, the bones of child are tender
Nm& @b GUIMS GLP1H60 5 856 160T 6TeV DL & 6T 2 MISNIMHMSTEHE ST ILIGSH S
C: When a child is born all the muscles are present
SLPHmnGE6T LNMEE LD GLIMEI 6T6LEVIT &H6ME [HIT600TS LD @) (H &5 60TM60T.
D : Nervous system of child, grows slower than the body parts
SLPHemG U 6T 2 L 60 2 MILIL|&em6T el HIFLDL| LD630TL6VID QOGRS aleTIEF e L_SHmSl.
20 20 | The basic factors that affect the growth of children :
S L HEM G &6 6T eUETTFR UL LIMTHEGLD Q. LILIEL_& SHITTeool 56T :

A : Nervous system and Endocrine gland system
BITLDL] L06DOTL6VLD oM mILD BIerdleLevTE & FLILIN& 6T LD600TL 6VLD
B : Circulatory system and Endocrine gland system
GMHEMTL L LD6voTL6VLD LDMMILD BHTETLE6V6VTE & TLILING 6T LD6voTL_6VLD
C: Nervous system and Respiratory system
BIFLOL] LDGDOTL_6VLD LOMMILD & 6UTEF LD6DOTL_6VLD
D : Circulatory system and Respiratory system

FGMEMITL L LO600TL_6VLD LDMMILD & 6)ITEF LO6GDOTL_6VLD

21 21 | Radha finds a phone on her way to school. Then she switched off the phone and puts into bag. But her mind think to hand it over to the right person. In this
case, Radha'sactionis  andhermindis .
TIsm L6618 & eu@hd eulbluiley e emaCLIGFI Ul emeor 8600T(h) 6T(H &G 6T M. LN6ITL| 2185 60T QLTS & ITE0IC0T 2| 60)600TS Sl
AL () 61l LU 606U SI6 Q& TETSR MITET. LEUTTEV U6 DTG GHement 2 flweauflLb epliLien &8 Gaueor(h LD
6T60T Blem6oTE: R OTMSI. @ HS Bl&HLDaN6L 9 au6eng QEFweLIT(H LHMILD 6UETSI LD6DT Blem 6V

A : Dishonesty, Honesty

Gl FemLnuiesremnin, GBHI6mLD

B : Honesty, Generosity P 3
age -
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G JemLD, & LOG [5G 60)60T

C: Generosity, Dishonesty
STLEHSHemeT, GBHIemLulleTenLn
D : Honesty, Dishonesty

Gm/IenLn, G TennuileiTemLn

22 'Which of the following should go hand in hand preparing healthy citizens ?

B 5 55600T L6061 G 6160 6Teme) 91, BT MTE G WILDITEOT (G519 LN 556018 6M6T 2_(H6UTE G 6UH 6V 60TMME Q& WeVLIL Galetor(hilD ?

A : Society and school
Felnas(pLd LeTerfluyLd
B: Teachers and headmasters
AAFWTSHEBLD &enevem WM W EHLD
C: Students and cinema
LDITEOOTEU [T & EH LD HemTLILIL BI85 EHLD
D : Teachers and lessons
A WTEHEHLD LML MBS EHLID

23 | Choose the correct answer.
Statement (I) : Friendship of children is beyond caste, religion and economic status.
Statement (II) : Gender bias is there in the friendship of children.

Fiflwmer eflemLenwiss CHIHOSHHESHALD :
Gl (1) : GLLHNGSET6T BLL| TS, I0GLD, QUITHETTSTT CoumimMBh&EH8E O LILTHLL LS.
Famol (1) : GBS SH6T60r L LIN6L y,600T, QLIGTOT LIMGLIMT(H 2_6Termsl.

A : Both (I) and (II) are correct
Ga Do () LDHALD (1) @resorGLD &ifl
B : Both (I) and (II) are wrong
g (1) OO (IT) GTevorGILD Seu)
C: (D) is correct, (I) is wrong
gaDol () &ifl, g (1) Seum!
D: (D) is wrong, (II) is correct

Gl (1) Heum, Samm (11) &1l
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24 24 | In a class, students work together in groups, plan and execute activities, it is an example of

LDITEOOTEU [T & 6T eUG LILIemMUI 6L & (WD 6UTE @) 60600T 5 S Q&F W6V LIMT(H&6m6T QFUIaIens &G 2_SITJ600TLOMES
S MEVITLD.

A : Instructional approach

SHLISSH6 2T0IGWmD
B : Behaviour approach
BLSMS SITWESOEND
C: Constructivist approach
24,5566V 9 T0IELN6D M

D : Information - processing approach

B&6U6 - QF WD 3|EG (LMD

25 25 | When a student felt uneasy to participate during interaction represents the lack of in the classroom.
aIGLILemME HMHLINGEH60 @ 60l 6emeoruilel 6(H LOMTEOOTAUGT @)UIGVLITES @) (H&H &S &UEIGaS au@GLIL60
@ 6ETEMNEN IS GMSHIHMS.

A : Psychological safety

2 emelllliey LIMSIGTLUIL
B : Feedback

LYedTemml_ LLD
C: Motivation
2615 & L11LI(H & 515 6V
D : Continuous practice
QsTL LWIme
26 26 || According to the right of free and compulsory education act child right age is :
@eveuF G LTS &6vall 2 flenn &L LESFH6TLI 6 &LPHenguiledt &iflulmest auwlg) :

A: 6-14 Years
6 — 14 U(HLLD
B: 6-18 Years

6— 18 GU(HLLD
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C: 5-14 Years

5-14 eu@BLLD
D: 5-18 Years
5-18 @UBHLLD

27 27 | Which of the following factors affected learning ?
(a) Motivation of the learner
(b) Maturation of the learner
(c) Teaching strategies
(d) Physical and emotional health of the learner

LN ME00T LIUMMIET &MHMEn6V LITH & GLD &ITFeuofl&6lT
(a) O QL Talln
(b) BHLeufleT WH TFH
(c) OIS 2 55 &6T
(d) BMHLeUfleT 2 L6V LnMHMILD 2 6T [HeVLD
A: (a), (b) (c) and (d)
(a), (b), (c) LLOMILD (d)
B: (a)and (b)
(a) LDMOHMILD (b)
C: (a)and(c)
(a) LDOMILD (c)
D: (a), (b) and (c)
(a), (b) LDMOOILD (c)
28 28

Which one of the following is a real-time method of e - learning with live interaction between the instructions and the students ?

LD &5 T6v0T L6 M MI6IT @) 6m6v0TWeULN 8 SMHMedlev LDMetTal & @eh& G0 SMHLISSHNEH G0 @enL Gl & (WD @) 6mLallenerenls
G510 [MINF:SE

A : Knowledge data-base

BIe|s6T UHmlw oifley
B : Online support

@ emevor LSl b5 T6Y

C: Asynchronous training
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29 | When teacher asks the unknown difficulty question to a student he is afraid and sweated. His heart beat level also increased. This is due to :

@ WA FWT e(h mevoTauflL LD JeIBHGS Q&FIWLIMG slq.erinmer allermalleners CaL (&GS (DL T ([HE S
Lwolh ellwiemeuud gmUBeUsSIL6eT @& WS S LN 6T 9jema b FH&FlEH M. @& MG 5 TJ6oor 0TS :

30

31

D:

A

&2 (I & 60 600T & & LILILTEH LW HE
Synchronous training

R (BBEIGemeoorHS LILIHE

Secretion by adrenal gland
|L_Feoredlesr &L &yLILISSTEL
Secretion by pituitary gland

e wC il &yl srliusgmey
Secretion by pancreas

8560)600T LWILD & JLILIG 6V

Secretion by thyroid

MSITU® &HILULSTE

Two categories of Educational Constructivism :
a&s5Wev &Hevalluller @) Tevor(h 6U6M & 6T :

A

6TEUMEM M 2_600T600T(LOLY U MG 6T60TMI Q6. @ T ITNESMIGETITH 2 6|l QUMMEI&S6) LITLedev @MILUNGSRImmy ?

A

personal constructivism, psychological constructivism

SeoflLILL L o585y, 2 aralliiey o856 6w

: personal constructivism, social constructivism

SeoflILL L o556, Fens 3855660
social constructivism, psychological constructivism

Fens 550, 2 aralluley 985560

:cultural constructivism, social constructivism

LieooT LI () 2b,858elWI60, Felnd 21,8861 W60

eI, (NSS!
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&6V, LD6OOT

&5, LMool 810

SHIGLD, QeueTerf]

32 . .
HEUMITEOT @) 60)600T6M LIS & TE00TEs :
(2) BWES - LUMTEHS

(b) Lfl — wiremeor

(c) QUITJ6OOTLD — &GS ey

(d) ABISTTID - PGS

A

(2) LOOAYLD (b)
B:

(b) LLOMILD (c)
C:

(c) LDMHOILD (d)
D:

(d) DL @D

33 "F DNV [HMHMITETOT" 6T60TES QG TLTBIG WD LIML6V @)L LD GlLIMMIETET HT6V :

A
LDBmeammi

16D ) 60 6v0T
GMHOSH TN

AHSBHTOMD)

Page - 13


Highlight

Highlight

Highlight

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

35

36

= |V

35

36

1B & TedT eTedTLIGUT

A
BITeUMUI epL_(H\LIeUIT
B:
@) 60)M 6L 60T
C:
1B BI85 M55 6 60T
D:
LemL g SHeTUS)
QumpssIs :
G\&msv
(@) Gmul (i)
(b)  mmisf (ii)
(c) mmew (iii)
(d) Fr6L60 (iv)
A
(a)~(ib), (b)-(1), (¢)-(iid), (d)-(iv)
B:
(a)~(1), (b)-(iii), (¢)~(iv), (d)-(ii)
C:
(a)~(iii), (b)-(iv), (c)-(i1), (d)-(1)
D:

(a)-(i1), (b)-(iv), (¢)-(1), (d)-(iii)

Glum(msr
e
FEETLD
G msir

[H M) LOSTET(LPSML LI LOSVIT&SETT

aImpelley 9iMlels Qg efla) 2 oL M&Hs CHamalllli(GeUS :
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QUIITHET

SHeval

L&D

GILI([B6eDILD

Famol 1: Bleombs BT auensCsM(H LIUITs6T aflemeruld Bleuld HeTQ &l QLG LD.
FaMMl 2 : GBS BIMeL LUNTs6T aflemeTu|Ld Blevld Li6TQ&F U QL& LD.

A
FGihm 1 &, mbm 2 Heum

Fahm | Sy, Sabol 2 &ifl

Gl 1, FaMHmi 2 Seum

oMol 1, ol 2 Fifl

BlemmUIl6VITedT Q& MeoTL &HEULD :

A
Us e ellemsss allens

SimeuSlulev FLG&GLD D& &6

S 2 _emLWelFserfler Q& Ulemns &6

BlemeVWITem D6 2_60oTH 5SS (LN60Fl6U TS 6T
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Frflumer LFUE QFMMHOMTLNTS Q56 Qs :
A

Fmss GLQOWES GH T OSTWaSHL LTSS GTHIEGS HSHWS!.

FMRISGE GHEN6TNUS GFHMT Fal SH6V LIMTIHS GTHG vl

FMI&HE GIHEN6TeNUISH &GH T Q&ML 16060 LUMTTHS &GIMIEG euliLNwsl.
40|40 S, &1fl6CaH M6 QG WIma 6TaUMMIL 65T QG TLTLILULID6 ?
A

S uLD
HL_6OTLD

Cu&s

WSS
4 'GTL&' — eT6Tm Q&FMev6d6dT QILIMBEIT :
A
S LEFGF
@\&HLLEFF

LuWimHe

MRS GLI9mMWE GBIl LictoTemeoorulley LMT&HS &G SeulilNwgl.
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WwwUmHe

UMTTH STEetler "NATTHenSWTT" BTV 6(1F :

A
Fallen g HIT6v

BTL& HBIT6V

2 I HEOL BTGV

L&leorLd

WIT6m60TE G LD LIMem 6ot @& LD &1 eTedTm SHemevl L6 Henguilev H HmH s HS) :

A

WITem60TE: G LD LIMTemeoT&s G LD &1l

M G6U Sy, MMEY

USHHTHTIDES LSS L6

N6 MM HTHGSLWD &mal

'S Fe.' 6T60TM L H1&H&elenHemul TS Wl

A
umryswmy

&SLOUF

& L0 LD 60T LI 60T
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46

47

D:

& Geu6TEBeT
GrmeamLi Wellev —— eredrm BIMLA @ @BLILISTEL Faubs BIMEHH 60 2 6Tergl.
A

LCrmudlesr

&Germemny(H

24158 IMev) & 6vfl 60T
Hewen®h
ST TEFNTS '&606)N &5 600T HMIHS 6T eT6oTmI LDEOTS ML LIMFTL QWU Wiy ?

A
&) (.a.5

ShHemg Quflwmy

M @B 2| 600T600T IT

(. QUTSTTF6TIT

"Briise QUTperflev aumLd Ceummienin :

A:
L&V GaummiemnLn

@\ J600TL_ITLD GeuMMmIetILD
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48

6T LMD GeummienIln
D:

SHSITLD GeUmmienLn
'auevailey eifl' afleveuTmMESleL AMHE ellemBIG UG 6T6ETLIMSHE FnMILD SLOILD @eVHE LD 618 ?
A

LB TeTD)

56950 5Mam s

AHSHMTOTD)

569 Mm15 5 I Tevor]
FHHGmerley @LIDALIMID @) [HLOGVTEET :
A

(LLELEN6V, SITIHS 6T

LGS0, GOEHS
I|efl&F&F LD, Geuenar

QBUIEH6V, SLLDLIGY
Slemp 9l & QMAWMSES Q& meorL GeuerflBTH &eT :
A

@\ 6VBIN G, FIBIGLILLT

LDGELFWIIT, QMITIHIG T H
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C:

g L1LIITedT, EeorIT

AMTEUMUI, QLOTITEHGSHT

'STHHWE SHedlEhr! eTeorl GUTHMUILIG LT

A

WA TTHenSWTy BTLS BIEGGE FTRSH W A&TASL B QUMD :

A

'@\ Sl 6TTBIGET HLPE ' 6T60TM BTtV GUIMHlWia

A

Q6U. @I MLDEOI IS 6OTITT

Cs5 & TSI

LMy & &M 6ot

6. T600T | & IT&F 60T

&6 L0 6vof]

UTgewmy

S miflulmaeor

LTS & meeor

STITUTTS
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55

56

WL W& 6T
6 T600T | & IT&F 60T

CaT & allFTuwssLD LeTemer

"QUITH U eumulenib @Lowl muleid LS QI SjnIwmLl LILpHIELg."
—-@6Ualg @)L LD QUMM HT6Y )

A

FeILSH ST
L0 60011 GLD &5 60)6V
SLDLITITLOWI600TLD
Qufluyrmevor b

"LUMSHaITE G5HE CHTHHS FensHS C&HTLZIMME GHmle IDMTCSHT"
@ 6ueaulg uiement @uiMmilulieur

A

626TEMGU U]
LOITTGIG L. LO(H S 60T
Q&FWMIQ&TE0oT LT

G601 U1 6BT L, MBI G5 60T M 60T

SMABMF FTyLd eTeilh BIedler L&A Fflwiy
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Srlwmemesr
(LD 6EDY6OT LI LIMLQ WIITIT
(LPEOTMIEDM 60T UI6OTITIT

STWLOT6OTEU T
UMTIHSTFEmIHS 'UTL R &sa e6orm LILLS& 0&HTHSHeUT

A
UTgewmy

M @B 2| 600T600T IT
ShHemg Quflumy

al.2_ FGIDLTETTH

"Gl 9195 SIF FLOETM eneV&6TIeL PGSR @@ LIL&TUI SH WM @emens sl DI He In&TEH 6T Fiflsn 2 enFLiGLIeT"

6T6OTMI LIMTSIWMem L LIMIQ WG :

A

LTS & meeor

61 600l | & M&F 68T

LN LIEh & 60T

sUilLb eerfl
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Y RYTHI60T 6([hH6eUeaTelMmIGT 6pedTml STIMTLTTHUN6T LiemL LIl &4,&LD

A:

@8l THIGET BPSHS
B:

85600T600T60T LIML_(H)
C:

SGWU allens @
D:

860076001 [ HLDES

60 |10 LDMeool18:8 L1 LITEV&H6T Q18 mevor L FleuldLIl6m 6ot 2600115 & 61 6T

A
rseil
B:
& 600T 600T &)
C:
CHTUQUBHCH
D:
L0600 1 BLO & 6376V
61 61 | Find the right articles.
I bought utensil and kept it near violin by mistake.
A: a,an
B : an, the
C: a,the
D: an,a
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62 62 | I'm on cloud nine to see my childhood friend. The idiom means.

A : happy
B: very happy
C : blissfully happy

D: sad

63 63 | Where is the place "Jaswantgarh' located ?

A : Himachal Pradesh
B : Sikkim

C: Arunachal Pradesh
D : Manipur

64 64 | Find out the incorrect pair :

(a) Syllabus - Syllabi

(b) Furniture - Furnitures
(c) Fish - Fish

(d) Leaf - Leafs

A: ac
B: ¢ d
C: d,a
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D: b,d
65 65 | He stood astounded. Here 'astounded' means :
A : happy
B: surprised
C: shocked
D: excited

66 66 | "Stood thronging the faint moon beams
... on the dark stair
That goes down to the empty hall"
Above lines are taken from :

A : The Listeners

B : Your space

C: The computer swallowed Grandma

D: Vantage

67 67 | Fill in the blank with suitable conjunction.

He ran away he was afraid.
A: but
B: yet
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C: because

D : though

Select the option that correctly forms the 2nd pair similar to the first.
Throw : Worth : : Tide : ?

A : Water
B: Ocean
C: Edit
D: Sea

"Cope" is followed by the preposition :

A with
B: uwp
C: on
D: for

'A poem made up of words that make the shape of an object and also use words to describe the object' is called as :

A : Epic

B : Concrete poem
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C: Sonnet

D : Allegorical poem

Choose the word which is most opposite in meaning of the word given.
India was humiliated in Olympic games.

A : dejected

B : honoured

C: ashamed

D: refused

Who is known as "The poet of the people" ?

A : Oliver Twist

B : Edgar Albert Guest

C: Edgar Alen Poe

D : William Wordsworth

Coin a new compound word from the option :
Moon

A light
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75

76

B : house
C: man
D: coat

Fill in the proverb with an appropriate abstract noun.
is the best policy.

A : happiness

B : cooperation

C: savings

D : honesty

Identify the adjective phrase from the following sentence.

Sujatha is reading an interesting story in the library.

A : isreading

B : interesting story

C: Sujatha is reading

D : inthe library

Form a new word using the clue.
A night insect
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A main
B: moth
C: mouth
D: muth

77 | Poems are compiled as a book. That is called

A : Poetry

B: Biopoem

C: Anthrology

D: Anthology

78 | Find out the correct pair of singular and plural.
(1) Child : Childrens
(i1) Knife : Knifes
(111) Ox : Oxen
(iv) Sheep : Sheeps

A (), (if), (iii)

B: (ii) and (iv)

C: (iii) Only

D: (i), (ii) and (iv)
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7 Matfch the following.
A B
(a) We (i) Object pronoun
(b) Us (ii) Subject pronoun
(c) Our (iii) Possessive pronoun
(d) ours (iv) Possessive adjective

A (a)- (D), (b) - (iid), (¢) - (iv), (d) - (i)

B: (a) - (iii), (b) - (i1), (¢) - (1), (d) - (iv)

C: (a)- (@), (b)- (1), (c) - (iD), (d) - (iii)

D: (a) - (i), (b) - (1), (¢) - (iv), (d) - (iii)

S Match the pairs.
A B
(a) Question mark {i) Assertive sentence
(b) Full stop (ii) Exclamatory senfence

(c) Exclamation mark {iii) Interrogative senfence

A (a)- (1), (b) - (iid), () - (i)

B: (a)- (i), (b) - (1), (c) - (iii)

C: (a)- (i), (b) - (D), () - (ii)

D: () - (i), (b) - (i), (¢) - (1)

81 81 | Hamid was like one with wings on his feet. This means :
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A He ran fast.

B : He ran slowly.

C: He was an angel.

D : He ran with Hamid.

82 | Advise is a/an

A : Noun

B: Adjective

C: Adverb

D: Verb

83 | The correct syllabification of the word 'Physiotherapist'.

A : Phy sio th e ra pi st

B: Phy sio the ra pi_st

C: Phy si o the ra pist

D: Phy sio the rap ist

84 | Choose the right verb.
The wind off the leaves.
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A blue
B: clue
C: blew
D: glue

85 | Find the new word for the given meaning
"clear stream".

A : river

B : mountains

C: rills

D: ocean

86 | Fill in the blanks using suitable Preposition form the box.

The ball fell the lake.
A : across

B: on

C: into

D: in

87 | Simile is the poetical device refers to :
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A : Comparing two things

B : Personifying two things

C: The letters of two or more words starts in the same spelling

D : The first words of the two or more lines are the same.

88 88 | The word that can help you avoid being overly blunt and remain in a tone of politeness.

A : Eponimous words

B : Euphemistic words

C: Idiomatic words

D : Clipped words

39 89 I read the paper it interests me.
A: so
B: if
C: but

D : because

90 90 || Ramu and I painted the house
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A : Himself
B: Herself
C: Theirselves

D : Ourselves

If ERASER is 96, then PENCIL is .
ERASER 6T60TLI&I 96 6760160, PENCIL 6T60T LIS

A: 69
69
B: 96
96
C: 103
103
D: 130
130

The smallest number by which 10985 should be divided so that the quotient is a perfect cube :
10985 & 6T & LOl&HE Gl 6TE0OTEOOTITEV 61 (&5 F6) 2L,60TSI 62(IH (LD (LD & 60T 6T600T600T TG LD ?

A: 5
5
B: 6
6
C: 7
7
D: 8
8
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Y3 I X 1s an odd number, then the next odd number is : Google Play
X' 6T60TLIGI 6([H ERMDEMM 6T600T 67601160, UBMH S HHSS RMDEND 6T600T 6! ?

A: x+1
x+1
B: 2x
2x
C: x-1
x-1
D: x+2
X +2

94
The table top is in the shape of frapezium with measurements in cm given in the
figure. Find the cost of the glass used to cover the table at the rate of Rs. 12 per

10 sg.cm.
180

50

150

e2(1h CLoemeauiletr Gnhurliy Fifleus eugaile) 2 drengl. & 60r
jemayHaT(Qe.uf) LUL&E6) Q&amheasLILIL (RETameT. 56T GLMLITLIL]
& sevvretnrTly GQUMIMESS 10 &. Q.1 6@ Rs. 12 aisLD sTelaIeTay
GlFEIMELD ?

180

50

150
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95

96

A Ks. 8250
Rs. 8250
B: Rs. 9900
Rs. 9900
C: Rs. 825
Rs. 825
D: Rs. 99,000
Rs. 99,000

Who was the first mathematician to use greater than and less than symbol ?

WS6T (WS6L Quflwg Amlws! etedrm GMIUTH LweTUm &S U 85600118 CLOemS WM ?

A

Albert girand
QLVLITL. &[T mevorL
Thomas Harriot
SITnev ammilul
James Hume

GLhen ameuLb

. Karl Weierstrass

&6V uATL_[Fmeiv

Which of the following number is not zero ?
LNedTeu LD eTevoTas6rfl6L 6T L2 e3luinev6y ?

A

0+0
0+0
0x0

ol ol 3
()
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e

97

Find the area of shaded part :

5cm

n 2cm

T

MG

&%

8cm

uL g &l mlpedll L LigEluilsir LiTliLieTe) STettTs.

5 Qg8
o5 2CF
_'__,_,_.--"' _'_._,_..—-"'
El=r
[—1 G.-—r"""’&’
— ]
— =
===
_—-""'f—'-;)
8Gz.18
A: 70 cm
70 Q&F.15
B: 42cm
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98

99

42 QF .18
C: 52cm

52 Q&8
D: 60cm

60 Q&F.LS

A BWC DWE
In the above figure AE =8 cm and also AB = BC = CD = DE, then find the area
of the shaded region.

GumssiorL. LLSSEled AE = 8 cm wmmib AB = BC = CD = DE erenflsb
blpedlLiul L L Slullsst urliLy ereoTest ?

At 2mr? em?
2mr? cm?
B: 21 cm?
21 cm?
C: 47 cm?
4 cm?
D: 2 cm?
7'C1‘2 sz
Find the decimal form of the fraction 207 + 36 + 9 + 5, - 3
10 1000

& 3 . . . .
207 + 36+ 9 + 6 F o D eTstaTEn0f 65T SHELD 6ULg 61D
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A: 207.630
207.630
B: 236.603
236.603
C: 252.603
252.603
D: 216.603
216.603

100 100 Tf the cost of 33 pencils is Rs. 132, then the cost of 5 pencils is :
33 QUETTEI6L&6rl60T elem6y Rs. 132 6T60T16V, 5 GQLIGIT &R u&6rflet allemeu :

A: Rs. 15
Rs. 15
B: Rs.20
Rs. 20
C: Rs.25
Rs. 25
D: Rs.30
Rs. 30

101 101) The least number which is divisible by all 1, 2, 3,4, 5, 6 and 7 is :
1,2,3,4,5,6,7 Q4TI S|60)60T5 S 6T600TH T TN UG LIL &8l LO&HEF F\nflul eTeuor 615 2

A: 120
120
B: 320
320
C: 420
420
D: 220
220
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102

103

a4’/

1027 1p gme1 4 gmtl 4160, find the value of m?.

gm-1 1 gmtl — 4160 6160160 m? M & MEVOTS :

A

Q
O O b W WL DN

103
The window of a building is located 2.0 m above the floor. If @ 2.5 m long ladder is

attached to it the distance from the base of the ladder to the building is :

25m 2m

senTuledlmhbal 2 6 2 wrssled spf Sligl GEI6T D6TaTey HHenIohHEI6TemE)
g6t gl 2.5 15 Hempsiter epemnfl FmyssLILIL(HeTem&l eTestlev, erssafluiletT
Sl rurs5 560 GUHbhEI &1L HHIDE 2-6T6m HITLD :

2.5 18 218
A: 35m
3.5
B: 45m
4.518
C: 30m
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3.00
D: 1.5m

1.58

Using the figure, what is the measure of angle x° ¢

Y

UL Semg LiweTU(hig S, x° 6T Gamenr W& eTetTsoT 2

xO

130°

Y

A: 500
50°
B: 4p°
40°
C: 9o
90°
D: 1800
180°
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105 105/ The three digits number that can be formed using the digits 1, 3 and 5 once. Then the difference between the largest and smalle
1,3 IDMHMILD 5 YWHWealmenm @b (WPenm L (KD LIWeTLUR S S 2 [Heum@GLD epeTmevd:d eTeoorderflev Lila L Quifluwl nmmiln
&g Al eTevord6rfl 6ot 6l &S WImE LD

A: 396
396
B: 693
693
C: 369
369
D: 639
639

106 1106 One of the supplementary angle is four times of the other, find the angles ?
Wlemas BITLIL] G&mevoT Mg 6rfl6) 6p6dTMI, L0M G MITEOT M 60T IHTEOTE LOL_MBI(G & 61T 6T60T 16D, 2iH& G860 6155 60)6TE> &5T600T 5.

At 3201580
32°,158°
B: 36° 144°
36°, 144°
C: 46, 134°
46°, 134°
D: 320 128°
32°,128°
107 107
The next ferm of the pattern
287 .
7 21 43
1, % % % ... aTedTm enwlidleT SiHSS 2 miliy:
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Find the next three numbers
50, 51, 53, 56, 60, ,

055D &S CLOEOTMI 6T600TEH60)6IT aseovr@dh.o,asaasum
50, 51, 53, 56, 60, s s

A: 6571,78
65,71,78
B: 66,72,79
66,72, 79
C: 64,70,77
64,70, 77
D: 67,73, 80
67,73, 80
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The descending form of the fractions E 1 l l E{:1rr—:-:
5 11 4 13 ‘8
3 7 1 11 5 . y 2 ; ; -
T T SlstTerrauserflest @ mmigeuflems suigsulb :
A7 1, 3.5, 1
11 13 5 &8 4
7,1, 3 51
11 13 5 8 4
B:
LB M T4
11T 5 13 4 8
L300 1,9
11T 5 13 4 8
C:
N dmaplad
13 11 8 5 4
Mo P58 31
13 11 8 5 4
D:
25 Yo M o 783
8 4 11 5
2.1, 10, 7.3
8 4 3 11 5

110" The range of prime numbers between 10 and 100 is :
10 &@&LD 100 &@&LD @emLLILL L LIGT eTevora6rfleor 655 &

A

86
86

: 87

87
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C

88
D: 89
89

11 Find the value of m, if (x + 2) is a factor of the polynomial x> — 4x2 + mx + 20.

x> — 4x% + mx + 20 60T ([h STFevof] (x + 2) 6760160 m—60T LD LIL| &T600TS

A: -2
-2
B: 2

2
C: 3
3
D: -3

-3

112 112 =
Converf the decimal number 0.425 in the form of P (p, g ezand g #0).
q

0.425 eT65TM HELD 6TETT-20 P aungefsy rhmitb Gurgl SlenLtiugl (p, g ez
q

wmmib g # 0).

A a2
490

421
4390

B 521
590

521
590

ool
290
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113/ The value of a washing machine 2 years ago was Rs. 15,000. It depreciates at the rate of 3% p.a. Find its present value.

QR FeVemeU @ WHSH TE5S 6T ellemev 2—, 65T (N & EH 5 S (LN6IT Rs.15000 94,8 @ BHSH ). N &H60T LDFLIL| 2b600T(HCSHTmILD 3%
af5 D GMMHMSI. 3H6T HHCLMTeNS U LOGLIL| 6T60T60T ?

A: Rs. 141115
em. 14111.5
B: Rs.14113.1
em. 14113.1
C: Rs. 141135
em. 14113.5
D: Rs. 14110.5
em. 14110.5

114

The value of 1‘23 — 1i o A =
2 16 12
7 9 i L .
Jz——J1—+—=@Tm Ui :
i 16 12 'é] .

A E
12
E
12
B: 5
12
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117

i |1

12

1
1

0 0

0

115/ Which of the following operation does not satisfy closure property on Z ?
Z 60 BLh&eTLalmmleL 6Ths Q&Wwed Blemme] Q& UIWITE ?

A

Addition
Tl L6V
Multiplication
& 01556
Subtraction

QUIHSHS&H6V

: Division

UG SHS6V

116/ The points (a, b + ¢), (b, ¢ + a) and (c, a + b) are
(a,b+c), (b, c+a),(c,a+b) eTedrLIcOT

A

C:

D:

117/ 1£ 20 chart papers together weigh 100 grams, how many of the same type will be there in a pack of 3 kilogram ?
20 9|60 L_&6rf16dT (Charts) QDM S 6TemL 100 B TLD 6T6vfl6v, 3G 3jeTaemL L 3 &).5) eTem L U6V 675 560607 3JL_60)L_56iT

Vertices of equilateral triangle

FLOLGS (LNECSTE00rS H 6T 25 F\ &6l
Collinear

@ CHITLemLnL] LeiTerflas 6T

Vertices of right angled triangle

QEFMHICHTEuOT (D& B8 TEUOTES S 60T 2_& &) & 61T
Vertices of isosceles right angled triangle

@\(b FLOLIGSE (LNECSTE00TS 5 6T 25 F\ 56T
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118

= |V

[OGEICINN

A 400
400
B: 600
600
C: 500
500
D: 300
300

118
If | and m are parallel then find values of x and v from the diagram.

o)

/f M

| sy e0151 M &(5 @emestt eTeofled LILSH60 X LOMMILD Y WS SEM6TS SHITEO0TS :

Ll

o)
/ »m

At 200 60°

20°, 60°
B: 100,200
10°, 20°
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= |V

C: 200 10°
20°,10°
D: 600, 20°
60°, 20°
119
Find the value of x° in the diagram.
A
b
2
=
UL &&lebl(mbgI X° -6t 0HIL| ST
At o125°
125°
B: 550
55°
C: 450
45°
D: 1100
110°

120/ The number of bricks each measuring 70 cm x 30 cm x 40 cm that will be required to build a wall whose dimensions are 7mx 3 mx 4 m is :
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70X 3 0 x 4 LS 6666 62(Ih &F6UlJ 6TWLILI 70 Q&FLS x 30 Q&FLS x 40 Q&F.15 66| QSHTETL. Q& BISH M6

A: 1100
1100
B: 1000
1000
C: 2000
2000
D: 2100
2100
121/ The earth is called as blue planet, of the earth is covered by water.
Ll @ Bev BIME CHMeT, @FHeoT ULy BImeL GLLILL (H6TeTsl.
A: 71%
71%
B: 75%
75%
C: 73%
73%
D: 78%
78%

122 Equin()x days falls on ¥ N .
FLLULSOITeY BIeTHET __ Blah&ms.

A March 21 and September 23

WOTFF 21 IDMHMID QFLIL DL 23
B: April 21 and September 23

gLIT6v 21 LDMMILD QEFLILLDLIT 23
C: May 21 and September 23

G0 21 LDMMILD QEFLILLDLIT 23
D : June 21 and September 23
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125

0060 21 LOMMILD QI &FLILLDLIT 23

123 discovered Nalandha University ruins in 19t

- century.
BETHSIT LIGVSHEMEVE &HL&H ST 60T @)1 LIMHGHEM6T 19-94L0 BITMHMIT600TIY 60 &600TL MBS

A : Abraham Lincon
2 LNTs M 698 6T
B: America Vesbugi
Q&8 QeusvL &
C: Alexandar
G EVEFTEOOTL_IJ
D: Alexandar Cunningham
QLG FTEOOTL[J & 60T60f IMRISSTLD
124 Sathanur Dam is constructed across the river

FMSHSONT 3]60)600T AHN6T GMECSH S L LILIL(H6TenSl.

A : Palaru
LMV T
B: Cauvery
smallifl
C: Then Pennai
©) & 60T G) LI 600T 60) 6507
D : Kirishna
B (15 629.600T T

= |V Eonole Play

125/ Assertion (A) : The amount of rainfall at Kolkata located near the coast is 119 cm and it decrease to just 24 cm at Bikaner(Rajastan) which is located in the

interior part.

Reason (R) : Air near the coast has more moisture and greater potential to produce precipitation.

Tl HLMHEGOTHG 2 BHR6TET Q&HMTUEHESS TN enPLIQUTEE] 119 Q.15 956 lh 2 6T LiGgHulev
3MWBHHHHGLD LNameflifleL (@ Tmeengme) 24 Q& 1086 @ &GemmelTer e pl1QUTHGa LISeum&Hearmsl.
STJeoTLD : HLMEHmMT LUGHUWileL ssmmmlev FTliugd IGHE @mLILSTE @emel H & LnemLps &(HLD B meneor
Q & M6ooT (H 6IT6MS.
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126

127

A Bom (A) and (R) are true (R) explains (A)

T MM IDMHMILD &TFeorLd @ Tevor(hLD &ifl, FoMMIGETEOT &ITT6E00TLN &6 M)
B: Both (A) and (R) are true (R) does not explains (A)

G MM IDMHMILD STFeoorld @) Jevor(hLD &Ifl, Fou M MIG 8 TEOT &ITT6voTLD & 1]
C: (A)is correct (R) is false

FaMml Fifl HTIeorid &eUm
D: (A)is false (R) is true

FaMHm SHaUuml STyeord &ifl

Choose the correct answer from the codes given below :
Assertion (A) : There are limitations on the Legislative authority of state Legislature.
Reason (R) : Certain bills on the state list can be introduced in the State legislature only with the president's approval.

GBS TEDID 6T S WBISHMETSH &([HHFH 6 6&Meor(H QHTHE&SLILIL (ReTeralmnléy &iflwimer ellenLemnwis C5ye)
QFWIWALD :

FaMMl (A) : DBV FLL D6TMSHMEGS FLL F&TT eUFLDL| 2 600T(h).

SMTJeooTld (R) : GQUTE Seneualifler splll|Hevl 60T oL (HGLD DMBlevL] LILIQUuIeSan6Ter Flev (NCE TS T & 6M6ITE
FLLOTMSH 6L (P& QFUILLIGVTLD.

A: (A)is false but (R) is true

(A) HeUM! SLeOTITED (R) &1f]
B: (A)is true but (R) is false

(A) &1l SpeTTeL (R) Seum!
C: Both (A) and (R) are true and (R) is the correct reason for (A)

(A) nHMILD (R) &F1fl GLOAYILD (R), (A) 688 meoT FIflImeT ell6em&&LI0MEGLD.
D : Both (A) and (R) are true and (R) is not the correct reason for (A)
(A) DHMILD (R) &1l GLOAYILD (R), (A) 6188 meoT FIflUment ell6md&5L06v6v.

Choose the correct answer from the statements given :
(a) There is a peacock sanctuary at Viralimalai in the district of Pudukottai (Tamil Nadu).
(b) The ratio of our National Flag's length and breadth is 3 : 2.

(c) In 2005 the United Nations declared October 214 45 the International Day of Non-violence.
(d) The National Flag was designed by Pingali Venkayya.
Q&EMR&SLILL(h6TeT aumsS W mIGEetledmBg Fiflwmer ellemLenw CHTHOSH &HEHLD :
(a) SALBITL 196V LISISHCHTL 6L Inmall L &Hev 2 6mem ellFmedlnemevuuilev L0UIN 6L & 615 & & T60T & [J600T TV UILD 2_6T6mSl.
(b) R WS Q& TIQUIN6IT BT &6V 3 : 2 6TeoTm NFRGHE5H L 2 6Tl
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129

= |V

©) FIUGCHEF FRIDNTF BIT6T &HCLITLIT 2, 6T6dTMI .16 2005-60 BB &5 5185 Q& TevoTLITIQ U1
(d) Na1&med Qeumengsw T CHAWE Q&M MWL QUMD GSSTH.

A: (a), (b)and (d) correct
(a), (b) & (d) &0l

B: (a), (c) and (d) correct
(a), (¢) & (d) &f]

C: (b)and (d) correct
(b) & (d) &1fl

D: (c)and (d) correct
(©) & (d) &rfl

128/ On which bill Rajya Sabha does not have any power to amend or reject ?

B LDEU(IHEUETAIMMIET 6THS LNGFTHTemel H(HSHSHD QF WG, BITT&H 66 ECalT LOMBleVEI&HET 6 E AFH&TTLD

R emr_WIMS! ?

A : Bill on Education
seval LDGFTSIT
B : Bill on Defence
UMSISTUL DCFMTHIT
C: Money Bill
B DCFTHT
D : Environment Bill
FMHMIFGLP6V IDCFTSHT
129 'Which of the following place in Tamil Nadu not connect with NH 44 ?
LNedreu(pLd SLALDBTL 19.65T 6THS BTN CHF W QBB EHFTeme 44 2 L 6T QML LTSS ?

A : Dharmapuri
s

B : Kancheepuram
SMEF LT

C: Salem
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GFeuld

D : Madurai
LD &I

130 1130 | Who coined the term "Secularism" ?

"Secularism" 6T60TM LIS SH6MS 2_(HeUTEHSR LI

A : Sam Manekshaw

FITLD GLD6OTTS: QI IT
B: K.M. Cariappa

G&.6Tld. Sl

C: George Jacob Holyoake

iy CuéHsl GammellGwims
D: A.O.Hume

A.0. @njlupld

131 131 The energy obtain from sunlight is used to break which molecule in photosynthesis ?
eafFCFIsamaullev @&l safluled g QUMLILIGILD QLMHMEY 6THS LNV Fnemnm LeTILESME& LT LGS M ?

A : Carbon dioxide

SITITLGT 60 24,8606 (h)

B: Water
il

C: Oxygen
21,860l eg 60t

D: Starch
Y

132 1132 Gaseous plant hormone that inhibits the elongation of stem and root in dicots :
@@ allemsuillemevsd SmeugmIEertley Geul LnMHMILD Sevor(h BL & SemLuemnsd &L Q&I LD eumu] Blemevuilev 2 aiter
QAMTIGLOITEOT :

A : Auxin
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3 &G 60T
B: ABA
ABA
C: Ethylene
615 5) 69 60T

D : Cytokinins
60 &FL_GL_IT6D) & 6071 60T

133/ 'Which one of the following vaccine against to Bacteria ?

BeTevild O LILF sefle 6Ths speotm LM flwmellm@ eT&\ ymerg ?

A: MMR
MMR
B: OPV
OPV

C: Co-vaccine

@& m—-eumaendleor
D: DPT

DPT

134 The scientific name of onion is :
QEUMIS TS S 60T MledlUIch QUL :

A : Allium Indica
3|6LedlWILD @)600TLq. 85T
B : Allium Sativum
SeVedWILD FL 6mL6ULD
C: Allium Sativa
36V WILD FL emIL6UIT
D : Allium Sinensis
3levedlwLh e & eoTedTendl ey

135 Pick the odd one out.
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QUM SHTHNS CHIHOSHH&HSHELD :

A : Amoeba
S Surr

B : Paramecium
UmgmuS& wib

C: Euglena
w,gerfleorm

D : lJelly fish
Q226060 LS60T

136 136| Find the water soluble vitamins from the following :
BfleL SemuLd emeuLl L LA 6T em6T &600TL M55 :

A : (1) Thiamine, (ii) Niacin, (iii) Ascorbic acid
(i) SWILA 6T (ii) BIUWTE 6T (iii) jevasTTLIS Ldlevind
B : (i) Retinol, (ii) Calciferol, (iii) Riboflavin
(i) QTLLQ.60TIT6 (ii) BTV QLT (iii) FlGLImsLNGeredl6or
C: (i) Tocopherol, (ii) Niacin, (iii) Ascorbic acid
(i) GLTBHMSQUITIT6L (ii) BT 6T (iii) 3j6rv&TILIS 3judleuld
D : (i) Retinol, (ii) Niacin, (iii) Tocopherol
(i) Q196016 (ii) BIWIME 60T (iii) CLITES MG LITT6V

137 137 The Central Nervous System in mammals comprises :
LImeTL_1q &6rfl6dT emLOW BT LDL|LO600T L6V S H 6L 2_6TeTL MBI UG :

A : Brain only
eLemer oL (HLD

B : Spinal cord only
FHeooT(heUL LD oL (hILD

C: Liver only

&H6v60T6V L (HILD
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247

otn brain and spinal cord

eLNEM6IT LDMMILD & 6v0T(h6UL LD

138 Smooth muscles present in the walls of the digestive tract is also called as :
2 _600T6) 8 (&L 69160 & MeuoTLILI(HLD G\LD6DTS 60)&F & 6Tl 60T LD MIG LI :

A : Skeletal muscles
TIDLS HenF
B : Voluntary muscles
SLOULBL QUBIGS SeNEF
C: Involuntary muscles
SLOULLTS QUK HF
D : Cardiac muscles
QBWS B0 F

139 Skin grafting treatment is need to :
G5 meL 6L (N 6L (Skin grafting) HFen& CHemalliLi(heug) :

A : Affected by epidermis
GLELLMSCSHTEL LUMTH&HSHLILLGLITH
B: Affected by dermis
2 L G5MeL LIMTHGSHLILILCLITH
C: Complete-destruction of the skin to full depth
CHMeNET (LN WLSHH MG 210 HSI6TeTe &6l
D : Affected by second stage fire burning
@\ J60oTL_ITLD Blemev S &S MWD LILGLTY
140 ' What is the zoological name of wild bee ?

&STLH5S Cxeotuller elleumBISUIEL QLIL :

A : Apis dorsata
gLilev LmyGFL LT
B: Apis florea
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erLITerv LGermifluim

C: Apisindica
gLl @)60TLq 85T
D: Apis mellifera
gLillev Qosuedle@uiym
141141 From June 28 which planet would appear to move west rather than its normal east ward motion :

839607 28 QLD BITefledBHS! 6THS CHITT &6 FMGTTE0 HLPSHG CHTEHER W @ UEHSSHamer all(hss CLum @ CHTEH

B&HIUSTEH CHMeOTmILD ?
A : Mercury
LI & 60T
B: Mars
Q&FeUeUTU
C: Earth
Ly LAl
D: Venus
Qeueer]
1421420 (1)...... dissolved in water reacts with ...... (ii)...... to form ...... (iii)...... which is used by marine organisms to build their shell.
Bfl6L BT HSIETET ... (Q)......, ...... (ii)...... 6T B ...... (iii)...... 2 (HEUTHGRMSI. 26MG 55605 56T 5515 61560) LI

Fo(HSHEM6T 2_(HeUMTEHRE Q&TaTHRI M.

A : oxygen, quick lime, calcium carbonate
L E5F1Q60T, Frl_L_ &r600T600T TLOL], SSMELEIWILD & TFLIG60TL
B : oxygen, lime stone, calcium bicarbonate
215G 82607, &r600T600T TLDL|, STV WILD LIS T LIG6TL.
C: carbon-di-oxide, lime stone, calcium bicarbonate
SITTLIGT ML 856m& (h), S600T600TTLOL], STEVEFIUILD MLIGSTTLIG6TL.
D : carbon-di-oxide, quick lime, calcium bicarbonate
SITTLGT ML 95em& (), &L &600T600T TLOL], &HTLHFWILD emLISTT LG0T L

143 143/ The famous historical monument Taj Mabhal is losing its originality due to the effect of :
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05 LsLOLI&ES auFeummmi §6TerLnmenT STLnssmedledr eerfl([HLd SeiTenin @LLILNMHE & TJeriD : Google Play

A : Green House Effect
LIG-emLD @)6L6v allemeray
B : Lightening
Ll eoT60T6L
C: Acid Rain
3Jdl6v LDEBILD
D: Global Warming

el @eulIUnuwLnmgS ey

1441144 When temperature is increasing in water, the volume of the water s :
QauLiLl Blemev HH &IflE G0 QUG HIf60T 60T 26Tl TS
A : Decreases
G&MOUYLD
B : Increases
2B &EGLD
C: Firstincrease and then decreases
P66 215558 L Gomn&ms
D : No changes
LOTMMLD G)6V6DIEV
145

145" The freshness of fruits and vegetables can be maintained by placing them in ice because of :

LILOMBIG 6T DMHMILD &MUl &6 Lieoflas L 19.ulleni6T emeuLiLIG 60 eLN6VLID Bi& 6060 LIS SI600TTay L 60T LITMnKl&8s (LoLgunh
SITIJ600TLD :

A : TIce absorbs a large quantity of heat
Lel1&8L 19 58 3676 QauLliLIg s 2 M Eh &6l smev
B : Ice absorbs a small quantity of heat

Lefl&aL 1Y GenmbS 3j6T6] CalliLigeamns 2 M Ehar6lUsmev

C: No heat change occurs
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6TIHd GIGULILI LOMMHMIPLD FMLIL TS

D : Ice produce cooling

LIeofl&aL1q @6l e &FILITET @ LD6eM6V 2_(THEUTE 615 T6V

146 146/ According to Fleming's Right Hand Rule middle finger indicates :
ek e euevdend elGILILIg BH NIV eTems & &M SR M2

A : Magnetic field
&HMHSLIL|eVLD
B : Direction of motion of the conductor
HLE5H @WBIGL Hens
C: Direction of induced current
L 6oTGeuT L L& 5 et He &
D : Electrical Potential
LSl68T 9P SHSID
147 1147 The product of mass and velocity of a moving body is :
@WmBIGLD QUMBerledT Blemm WMHmILD &6t &G6u8 85 60T O\LIIHE 8 M LIV

A : Force
lleng

B: Inertia
BlemeuLnLDd

C: momentum
2 HGLh
D : Impulse
HOTSHSHTHGS
148 /148  ‘Which of the following is not Representative element ?
L edTeu(peustTalMmIET 678 LITH BT & G6u Seoflnld @) eveney ?

A: Kr
Kr
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149

150

BT AT
Ar
C: Ne
Ne
D: He
He

149 Which of the following medium is needed for the heat energy from the Sun to reach the Earth ?
GlwelLphg LieNsE QeuliLl ouMmmev aUb&HemL L §LDE & 600TLalMMIGT 6Th& 26Tl_&0 GHemnall L& M ?

A : Medium of Air
SITMMI 26T_&H1D
B: Medium of Water
B 2er_&1h
C: Medium of Oxygen
31,8 6r018260T 2eT_& L0
D: No medium
cTelall g 26mL_& (LD G566 UI6Lemey

150 valency of calcium is :

SITLVH LIS H) 60T ©) 60)600T H) M 60T :
A: 1l
1
B: 2
2
C: 3
3
D: 4
4
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